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L% IN-| HEAE WTFAR BRREAR | RRIEEAER | RBREEER

I T £ (A) (B) * (C) * (D) * (E) * (E/A)

(BxEHT) | (BxMHY) | (BxREHLT) | (BxBEHT)
(B&EHT) i O|WBA| & O|MBELA] B O|REA] B |REA| (BxEHY)
I ' |2 = @ 2@ % 25 0 0 0 0 0 0 0 0 0.00
B x |R v [T 29 2 0 0 0 0 0 2 0 0.07
BOH |8 oA OEE % 22 5 0 0 0 0 0 5 0 0.23
R B B 76 7 0 0 0 0 0 7 0 0.09
B o [ & ¥l % 25 1 0 0 0 0 0 1 0 0.04
2 E #® F 25 1 0 0 0 0 0 1 0 0.04
moOo¥ B F 101 8 0 0 0 0 0 8 0 0.08
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L% IN-| HEAE WTFAR BRREAR | RRIEEAER | RBREEER

I T £ (A) (B) * (C) * (D) * (E) * (E/A)

(BxEHT) | (BxMHY) | (BxREHLT) | (BxBEHT)

(B&xEHT) i O|WBA| & O|MBELA] B O|RRA] B |REA| (BxEHY)
X m |z =[vvh374 16 5 0 0 0 0 0 5 0 0.31
7-b357} 1 4 0 0 0 0 0 4 0 0.36
1977 14 3 1 0 0 0 0 3 1 0.21
5t 4 12 1 0 0 0 0 12 1 0.29
& ' |& 8 I ®|ggIz 27 2 0 0 0 0 0 2 0 0.07
I B |2 B I R|eorm 22 1 1 0 0 0 0 1 1 0.05
HAS B & I #®|Barm 28 0 0 0 0 0 0 0 0 0.00
BB [f B I B|esEE 27 1 0 0 0 0 0 1 0 0.04
B ONO|E N I ORER-BF 23 0 0 0 0 0 0 0 0 0.00
wE|L2s T HEMHE @ 29 0 0 0 0 0 0 0 0 0.00
B MR R I R|ReRm 25 0 0 0 0 0 0 0 0 0.00
R B it 222 16 2 0 0 0 0 16 2 0.07
hEH & H I R W 27 0 0 0 0 0 0 0 0 0.00
BR-EF 23 1 0 0 0 0 0 1 0 0.04
it 50 1 0 0 0 0 0 1 0 0.02
2 E #® F 50 1 0 0 0 0 0 1 0 0.02
T ¥ #® & 272 17 2 0 0 0 0 17 2 0.06
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(BxEHT) | (BxEHY) | (Bxl@HT) | (BxfHEHT)
(BXEHT) B |MEA| Bt |RBA] E | RERA| & |REA| (BxEHT)
X B |X B I ®BEEIF 27 0 - 0 - 0 - 0 - 0.00
TR (BaH) & 27 0 - 0 - 0 - 0 - 0.00
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T T (V) (B) () (D) (E) (E/A)
(BxEHT) | (BxEHY) | (BxlHT) | (BxfHEHT)
(BXEHT) | MEA| Bt |RBA] E |RRA| & |REA| (BxEHT)
HEE |E =& = 27 4 1 0 0 0 0 4 1 0.15
2 I |& =|B = 27 1 0 0 0 0 0 1 0 0.04
B fi |E E|R I3 17 1 0 0 0 0 0 1 0 0.06
FF & |2 BRI 20 1 0 0 0 0 0 1 0 0.05
B ES 8 H 91 1 1 0 0 0 0 1 1 0.08
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T T (V) (B) () (D) (E) (E/A)
(BxEHT) | (BxEHY) | (Bxl@HT) | (BxfHEHT)
(BXEHT) B |MEA| Bt |RBA] E |RRA| & |REA| (BxEHT)
h B |Im B R ZEEERE 22 0 0 0 0 0 0 0 0 0. 00
i = 8 H 22 0 0 0 0 0 0 0 0 0.00
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T T (V) (B) () (D) (E) (E/A)
(BxEHT) | (BxEHY) | (Bxl@HT) | (BxfHEHT)
(BXREHT) | MEA| Bt |RBA] E |RRA| & |REA| (BxEHT)
= H i B 24 1 0 0 0 0 0 1 0 0.04
E ES 7 Bl 24 1 0 0 0 0 0 1 0 0.04
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T T (V) (B) * () * (D) * (E) * (E/A)
(BxzEHY) | (BxEHT) | (BxfEHY) | (BrlEHT)
(BXEHT) | MEA| Bt |RBA] E |RERA| & |REA| (BxEHT)
HOE |F OB B SRS 47 11 - 0 - 0 - 1 - 0.23
RABX |RABXKRERE 32 5 - 0 - 0 - 5 - 0.16
e 2w 19 16 - 0 - 0 - 16 - 0.20




